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Name Section

1. Here is the code for one version of a procedure to compute factorial. In the space provided after it,
write a tail-recursive version of the same procedure.

(define fact
(lambda (n)
(if (= n 1)
1
(* n (fact (= n 1))))))

2. Fill in the blanks below to complete the procedure we defined in class.

(define sgrt-iter
(lambda (guess x)

(define improve
(lambda (guess x)
(average guess (/ x guess))))

(define average
(lambda (x vy)
(/ (+ xy) 2)))

(define good-enough?
(lambda (guess x)

(< (abs (= (sguare guess) x)) 0.001)))

(define square (lambda (x) (* X X)))



